m-)ﬂa—‘qw‘m{@us ?f/a TE OF (HANGE
\/qu +ox*-2x+ 1L at x=4
N :n A=

q(ﬁq)5+b(\3‘f)‘ 23.6) +1
vz T(EI31D+ 605 21)~7.5+1
=415 2534912618 +1

= 499693

Y\[hCn A=M.
y= TP+ ()2 (M) + 1
= T(G:EQOIHb(IE -ga+1

=HM82. 44T +100.86-%.2+ 1
=57¢.107

3. h=-Ngt*+100t

a) TFt+=0 IE $=5
h=-4.9(0)*+ 100(0) h=-493)+100(3)
=-4.9(0) +0O =-4.9(9)+ 300
= O+0O = —HN [ +3C0
= O 559
(0,0) (5 2559
AROC = VY
tl—x
= 755.9-
3-0
= 2559
3
= 8§5.3™/s

2 s=-5t%-2t+2, ot t=i0

When When %=

S= ~5 Cn q -2(99)+2 s=-5(0 \)‘ zuo Nt+2)
=-5080N-198+2  =-5(o20)-202t2
= -MGo.05—19.8+2 =-510.05-302+2
=—-507.%5 =-52%.25

Troc= Y2 Yi

y="40M
X2~ Xy o2
='52825-‘5o’1‘85j =-fo2
10-1—9.9

b) Tf +=3  TF =4
h=2559 h=- N (M)A 100 (4)

(3,2559) = ~4.90))+M~0C
= - waoo
=391.6

(M,391.6)

SRoc = yra

A=K

= 991 6-255.9
-3

= 651



&) h=-HAat+100t at t=1 Y k= -M9+59.26+5

- —_ 2
E—bei\u% (C- Q)z +100(0.49) a) hl'_‘s _ Lifj%ttf%quzs
=-4HA4(0s1)+ 90 5~ - 22
S ) DS h-5= ~4.9(t-$€)
e h=5-T84= ~&/ G (£2 $£ +10)
= ¥.031m ]LVBSL{H: —H‘?(—t ?t)ﬂ(,)
= -%3 =-M4q
e T A = 5 4 (Standard Form)
= -4A01.2D) + 110 Vertex (4, 85M)
S— er ¥ex 3N
- 105:.[(%?1:1;!9 ljenr}_ x'mum he h+ v\{as 8§34 m .
_ e projectile redched the N@xnmuwgweec«gxds
TTRCC= Y-
= 104.071 =86.03I
I.1-0
= 18.0M
s)
Go.2,M/s

B) h=-M.9E*+39.2t+ 5

&) The Total +H oFF\ nt Foumnm r+(b)
a=-449 b=3892 ¢=5 is not equal exach Iy fwice e
+nmc +o reach the oxnmum height found
t= '—b*\l b:l Nac art (o) becausc the pro e 1S not
S r'hr\ at a height o€ ‘éero)bu-\-
= -8¢. Zt ]@q 1)2 Y{49)(3) ro‘\'hcr ot the h@)cdhf of the dannon (5m)

= -89. 2,+ ISBe 4+9%

B —qu-j 1634 .M
=9.8
= -39 th H0.4507

=-19.6307 or [.2307
-9.5 -9.8
= %126 or —0A7G
L h Cannct be
> ¢ ’Tﬂc Jccﬁls it the n&sah\/c‘
around after §.126sS.




d) h=

When +

=M quq)zhsq 2 (1L9)+5S
= =M G(361)t+ TIME+S
==17. 689 +T4 M8 +5

Gl-T91m

When t
h——q‘%( l ) +39.2.(9.0)+ 5
=-MGIM1) 2232+ 5

="21.09+82.32+5
=695 Tlm

i

“M9t* +39.2€+S art=2

e) The wnstantaneous rate of change of
+he \‘\t\

Qh’r should be zero ot Re time
the ctile Teaches S aximum

hc\fjh+ (e object bﬁns for Tin instart)
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